BIOTECHNOLOGY – HOMEWORK ANSWERS
HW SHEET 1 – TOTAL MARKS =12
1.	Three types of organism: bacteria; viruses; moulds & yeasts.	(1 mark each)				3	
2.	Two harmful effects: disesase; infection; food poisoning; food spoilage. (ANY TWO, 1 mark each)	2
3.	Prevent food spoilage:  by adding (chemicals called) preservatives. (1)					1
4.	Two common bacteria: Salmonella and Campylobacter. (1 mark each)					2
5.	Prevent spread of disease: installing sanitation systems; immunization programmes. (1 mark each)	2
6.	Short note on fungal infection: choice of Thrush or Athlete’s foot. (2 marks each)			2
	Thrush – infects both internal organs and mucous membranes of mouth, throat and genital tract (1)
· easily treated using creams bought from a pharmacy. (1)

	Athlete’s foot – usually occurs on the skin between the toes (1)
· easily treated using creams bought from a pharmacy. (1)
				







HW SHEET 2 – TOTAL MARKS = 10
1.(a)	Gas used up by burning food: oxygen.									1
1. (b)	Gas produced by burning food: carbon dioxide.								1 
1. (c)	What happens to lime water?: turns milky/cloudy.							1
2. 	GLUCOSE + oxygen 			carbon dioxide + water (1 mark each)				3
3.	Type of energy released by respiration: heat energy.							1
4.	Other than movement, two uses of energy by animal cells: cell division/reproduction; growth.
									(1 mark each)				2

5.	Precise location of aerobic respiration: in (cytoplasm of) every/each cell.				1










HW SHEET 3 – TOTAL MARKS = 11
1.	Why yeast is added to dough: to produce carbon dioxide, making dough rise.				1
2.	line graph:	time(mins) on x-axis and correct scale							1
			diameter (cm) on y-axis and correct scale						1
			correct plot (points joined up with a ruler)						1

3.	Why graph levels off near end: yeast has no more food/glucose to eat; no more space for growth;
	carbon dioxide gas has built up and poisons/kills yeast cells. (any one)					1

4.	Way to make reaction go faster: do experiment at a higher temperature (less than 40oC).		1

5.	Group of organisms to which yeast belongs: fungi.							1

6.	line graph:	days on x-axis and correct scale								1
			area of mould (cm2) on y-axis and correct scale						1
			correct plot (points joined up with a ruler)						1

	Two days when mould grew fastest: 6-8 days.								1







HW SHEET 4 – TOTAL MARKS = 5
(a)	line graph:	temperature (oC) on x-axis and correct scale AND					1
			Sugar (maltose) produced (units) on y-axis and correct scale				1		
			correct plot (points joined up with a ruler)						1

(b)	Reason why pH should be kept the same: to make experiment fair.					1

(c)	Enzyme most active: 40oC.										1

(d)	To find out the temperature at which amylase works best: test at more temperatures in between,
	 i.e.  31oC, 32oC, etc.											1



					








HW SHEET 5 – TOTAL MARKS = 8
1. (a)	Chromosomes found in: nucleus.									1
1. (b)	Human cheek cell has: 46 chromosomes OR 23 pairs of chromosomes. (either)				1
1. (c)	Chromosomes are made of: DNA.									1
2. (a)	Difference between two sets of chromosomes: male has XY, female has XX (at set 23.)			1
2. (b)	Why pairs of chromosomes?: each parent gives one chromosome (for each characteristic 
	in their sex cell/gamete)										1
	AND male and female chromosomes for same characteristic pair up.					1

2. (c)(i)	Each body cell has: 46 chromosomes.									1

2. (c) (ii) Chromosomes are found in: nucleus.									1











HW SHEET 6 – TOTAL MARKS = 12
(i) 	Couple had: 3 boys.											1
(ii)	Dominant gene: brown eyes.										1
(iii)	Bb	Bb	(both correct)										1
	bb	bb	(both correct)										1	

(iv)	Colours of eyes: BB = brown; bb = blue; Bb = brown.	(1 mark each)					3
1.	Mother’s genes: T and T											1
	Father’s genes: T and t	(both correct) - either way round						1
	TT	TT		OR		Tt	Tt
	Tt	Tt				TT	TT	correct punnett square				1
2.	Triangles: 2 x  black 		AND 	2 X black  	with white		ALL correct		1
3.	zero chance/0%.											1





HW SHEET 7– TOTAL MARKS = 8
1.	any answer acceptable (personal choice/opinion).							1
2.	illnesses you have; illnesses you may get; factors that affect personality. (any 2, 1 mark each)		2
3.	any answer acceptable (personal choice/opinion) BUT must be backed up by reason:
	YES: 	could be dangerous if job involves driving/using machinery; 
		chance of being an alcoholic could alter moods at work.					1
	NO:	just because he has the genes, doesn’t mean that he will be an alcoholic; 
		if an alcoholic, then he should be offered treatment to control condition.			1

4.	any answer acceptable ( personal choice/opinion): person themself; medical staff; 
	insurance/finance officials (other answers, if reasonable).						1

5.	Yes, because we should not assume/guess what DNA information holds (or similar)
	OR No, because measures could be put in place to cover eventualities (or similar).			1

6.	any answer acceptable (personal choice/opinion).							1
	






